West Leederville Primary School





PLEASE ORDER ONLINE AT www.campion.com.au USING "8MBU" AS YOUR CODE **BEFORE Friday 14th October 2016**

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW **ALL ORDERS MUST BE PREPAID**

| TUDENT GIVEN NAME(s) | | | | | STUDENT SURNAME | | | | | | | | | | | |
|--|---------------|------------------|-----------------|------------|-----------------|----------|------|--------------------|-------------|-------------|------|------|-------|-----|-------|--------|
| | | | | | | | | | | | | | | | | |
| ELIVERY ADDRESS (| For easy De | livery, Pare | nt Name | & Work A | Address | s prefer | red) | | | | | | | | | |
| | | | | | | | | | | | | | | | | |
| | | | | | | | | \top | \neg | \neg | | | | | | |
| + | | + + | | | + | _ | _ | + | | - | - | | | - | | |
| | | | | | | | | | | | | | | | | |
| JBURB | | | | | | | | | | | | _ | | POS | ST CO | DE |
| | | | | | | | | | | | | | | | | |
| ARENT/GUARDIAN M | IOBILE/PHO | NE NUMBE | R | | | | | | | | | | | | • | |
| | | | | | | | | | | | | | | | | |
| MAIL ADDRESS REQ | UIRED [| | J | | | | | | | | | | | | | |
| TUDENT'S PREFERE | | | | | | | | | | | | | | | | |
| | CREDIT CA | RD PRE | PAYME | NT - WIL | L BE | PROC | ESSE | D AT | ГІМЕ | OF | ORDE | RE | NTRY | | | |
| | 7 | | | | | | | | | | | | | | | 1 |
| MasterCard | Visa | Card N | o.: | | | | | Ш | | | | | | | |] |
| | - | 7 | Car | dholder's | Namo: | | | | | | | | | | | |
| | | | Our | ariolaci s | | | | | | | | | | | | |
| Expiry Date: | | | | | | | | | | | | | | | | |
| | | _ | | | | | | | | | | | | | | |
| | | | | | | | | | | | | | | | | |
| | | __ | TEAR | R OFF S | SLIP - | - PLE | ASE | RETA | IN. | <u> </u> | | | | | | |
| gnature: | | | | | | | | | | | | | | | | |
| ignature: | very will | | | | | | | | | | er 2 | 016 | · · | | | |
| ignature: | · | be disp | atche | d the v | week | endi | ng 1 | 1th N | lov | emb | | | | | | |
| ignature: 'our home deli Please note: Ar | ny orders | be disp being | atche return | d the v | week Cam | endi | ng 1 | 1th N ail m | lovo ust | emb be ı | ece | ived | l two | | s pr | ior to |
| ignature: 'our home deli Please note: Ar | ny orders | be disp being | atche return | d the v | week Cam | endi | ng 1 | 1th N ail m | lovo ust | emb be ı | ece | ived | l two | | s pr | ior to |
| ignature: four home delivered to the cut off date | ny orders | be disp being | atche return | d the v | week Cam | endi | ng 1 | 1th N ail m | lovo ust | emb be ı | ece | ived | l two | | s pr | ior to |
| ignature: 'our home deli Please note: Ar | ny orders | be disp being | atche return | d the v | week Cam | endi | ng 1 | 1th N ail m | lovo ust | emb be ı | ece | ived | l two | | s pr | ior to |
| ignature: 'our home deli Please note: Ar | ny orders | be disp being | atche return | d the v | week Cam | endi | ng 1 | 1th N ail m | lovo ust | emb be ı | ece | ived | l two | | s pr | ior to |



Campion Education (Aust) Pty Ltd A.B.N.: 33 074 318 602 7 Oxleigh Drive, MALAGA WA 6090 Phone: 08 62402778

www.campion.com.au - Email: wasales@campion.com.au

RESOURCE LIST INSTRUCTIONS

HELPING YOUR SCHOOL / COLLEGE

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

OPTIONS TO ORDER

- 1. The best way to guarantee you will receive all available items is to order online at www.campion.com.au
 you may also post direct to Campion: 7 Oxleigh Drive Malaga, 6090 before the due date on the front of your List
- 2. While You Wait Service (Malaga or Willetton)
- Our Staff will pick and pack your Resource List requirements in our warehouse while you wait in our showroom. Credit Card, Eftpos and Cash Accepted in Campion Shops. Malaga and Willetton. Cheques not accepted.
- Please note: Long delays will be experienced in the 2 weeks prior to commencement of the school year.
- · Whilst we endeavour to fully supply all orders, we cannot guarantee stock if you choose the While You Wait Service.
- The best way to guarantee you will receive all available items is to submit your Resource List **online** by the due date on the front of your Resource List.

All Back Order Items will be posted and charged a delivery fee. This applies to instore purchases only.

OPTIONS TO COLLECT

1. HOME DELIVERY

- Can be delivered to a home or business address. Please write clearly.
- · A postage fee may be applicable see end of your Resource List.
- · All Home Deliveries must be pre paid.
- **BOARDERS:** If you tick the boarder box on the front of the list (If Applicable) your order will be delivered to the school/college. Please put the school address.

2. LATE ORDERS - MISSED CUT OFF DATE

- You can still place your order online at www.campion.com.au. All late orders are home delivery only.
- The total cost of processing and delivery will be \$5.50 per item up to a maximum of \$17.50.
- Whilst we endeavour to despatch your order before school begins we cannot guarantee delivery before school term starts.

REFUNDS

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2017 or 2 weeks after the purchase date (whichever is later). We will gladly refund or exchange any goods deemed faulty from the manufacturer.

TRADING HOURS

Monday - Friday 9:00am - 5:00pm

Extended Trading Hours

Saturdays 8:30am - 2.00pm **14th Jan 2017 - 4th Feb 2017**

INSTHDWA

Please tick the items required in the box provided \downarrow

| Office Use | Description | ltem No. | ☑ Item Reqd | Qty Reqd | Unit Price \$ | Total Amount \$ |
|------------|--|-------------|-------------------|-------------|------------------|--------------------|
| | SCHOOL RESOURCES | | | | | |
| | PERSONAL ITEMS FOR STUDENT USE | | | | | |
| P58510 | Eraser Plastic Pencil Large With Sleeve | 1 | | 1 | 0.40 | 0.40 |
| P51615 | Exercise Book A4 PP Cover 8mm 64 page | 2 | | 8 | 1.40 | 11.20 |
| P51080 | Exercise Book 2/3 A4 (A5) 8mm Ruled 64 Pages | 3 | | 2 | 1.35 | 2.70 |
| P55492 | Document Wallet FC Slimpick Blue | 4 | | 1 | 0.95 | 0.95 |
| P50670 | Display Book A4 20 Pocket Clear Cover Blue Refillable | 5 | | 2 | 2.25 | 4.50 |
| P50130 | Glue Stick UHU 40 gm | 6 | | 4 | 3.30 | 13.20 |
| P56081 | Marker Artline #200 Black 0.4mm | 7 | | 2 | 3.60 | 7.20 |
| P55798 | Manilla Folder A4 Buff | 8 | | 1 | 0.30 | 0.30 |
| P56095 | Pen Ballpoint Cap Type Blue Medium | 9 | | 6 | 0.35 | 2.10 |
| P56096 | Pen Ballpoint Cap Type Red Medium | 10 | | 4 | 0.35 | 1.40 |
| P56215 | Pencil Case Tartan Jumbo 340mm x 170mm | 11 | | 1 | 2.95 | 2.95 |
| P50152 | Pencils Columbia Coloursketch Triangular Pkt 12's | 12 | | 1 | 2.45 | 2.45 |
| P56173 | Pencil (HB) Junior Triangular Grip | 13 | | 2 | 0.80 | 1.60 |
| P56414 | Ruler 300mm Plastic Clear | 14 | | 1 | 0.70 | 0.70 |
| P56099 | Pen Ballpoint Bic Crystal Green | 15 | | 1 | 0.60 | 0.60 |
| P50261 | Post it Notes 73mmx73mm 3 Neon Colours | 16 | | 1 | 6.30 | 6.30 |
| P50668 | Sharpener Pencil Barrel Double Hole Metal (HQ) | 17 | | 1 | 5.40 | 5.40 |
| P50161 | Scissors Maped Start Soft 170mm | 18 | | 1 | 1.90 | 1.90 |
| P50129 | Crayons Twistable 12's (WA Schools Only) | 19 | $\overline{\Box}$ | 1 | 3.90 | 3.90 |
| P56291 | Marker Artline #70 Black (Xylene Free) | 20 | $\overline{\Box}$ | 1 | 4.30 | 4.30 |
| P55808 | Markers Connector Pens Wallet 10 Assorted | 21 | | 1 | 5.95 | 5.95 |
| P51632 | Scrapbook PP Cover Clear 64 page | 22 | $\overline{\Box}$ | 2 | 1.85 | 3.70 |
| P55268 | Calculator Jastek Basic Compact 8 Digit | 23 | $\overline{}$ | 1 | 15.50 | 15.50 |
| | Retain from previous year | | _ | | | |
| P51124 | Maths Set Helix Oxford 9 Piece | 24 | | 1 | 6.60 | 6.60 |
| | Retain from previous year | | _ | | | |
| P55043 | Art Folio A3 Poly with Handle Slot | 25 | | 1 | 11.25 | 11.25 |
| | Retain from previous year | | _ | | | |
| P52082 | USB Pocket Flash Drive 16GB - NO RETURNS | 26 | | 1 | 12.95 | 12.95 |
| | Exclusively for school use. (Retain from previous year). | | _ | | | |
| P56384 | Recorder Yamaha Descant YRS-24B | 27 | | 1 | 15.95 | 15.95 |
| | Retain from previous year | | | | | |
| P51112 | Liquid Ears Black Over Head Kids Headphones | 28 | | 1 | 15.90 | 15.90 |
| | Retain from previous year | | | | | |
| P01857 | iMaths Student Book 6 - National Edition [Linthorne et al] | 29 | | 1 | 18.95 | 18.95 |
| | WLPS Diary - School Will Supply | 30 | | 1 | 13.00 | 13.00 |
| | VOLUNTARY CONTRIBUTIONS | | | | | |
| | While the following contributions are voluntary, the | | | | | |
| | quality of our teaching and learning program will be | | | | | |
| | maximised when all families contribute. | | | | | |
| | 1. SCHOOL VOLUNTARY CONTRIBUTION | 0.4 | _ | _ | 00.00 | 00.00 |
| | Voluntary Contribution Per child | 31 | | 1 | 60.00 | 60.00 |
| | 2. P&C VOLUNTARY CONTRIBUTION | 0.5 | _ | , | FF 00 | FF 00 |
| | P&C - 1 Child | 32 | | 1 | 55.00 | 55.00 |
| | P&C - 2 Children | 33 | | 1 | 80.00 | 80.00 |
| | P&C - 3 Children | 34 | | 1 | 105.00 | 105.00 |
| | P&C - 4 or more Children | 35 | | 1 | 120.00 | 120.00 |

Please tick the items required in the box provided \downarrow

 Item
 Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd
 Price \$ Amount \$

PARENTS TO SUPPLY:

2 x Large Boxes of Tissues

1 x Art Shirt

1 x Reading / Library Bag

| Number of Boxes ticked: | |
|--|--------|
| Delivery, packaging & handling | \$4.00 |
| ESTIMATED AMOUNT DUE (PRICES CORRECT AT 07/09/16) | \$ |